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QUESTION 1

Your customer wants to use NetApp Trident to automate data lake provisioning on premises using a NetApp AFF array
in AWS using NetApp Cloud Volumes ONTAP. Their unstructured datasets will require 200 TB of storage, will be
accessed by hundreds of worker nodes simultaneously, and will have millions of small files in a complex directory
hierarchy.

In this scenario, which Trident driver is appropriate for this task?

A. ontap-nas-flexgroup

B. ontap-nas-economy

C. ontap-nas

D. aws--cvs

Correct Answer: A

QUESTION 2

Your organization is adopting DevOps techniques to accelerate the release times of your product. The organization
wants to have more communication between teams, quick iterations, and a better method for training work in progress.

In this scenario, which three methodologies would you recommend? (Choose three.)
A. waterfall

B. agile

C. kanban

D. scrum

E. iterative

Correct Answer: BCD

QUESTION 3

Your developers each need their own unique copy of source code. Currently, you have 300 developers, and the source
code that they are working on is 200 GBs in size.

Which NetApp ONTAP feature would help to solve this issue with the least amount of overhead?
A. FlexCache
B. SnapMirror

C. FlexGroups
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D. FlexClone

Correct Answer: C

QUESTION 4

What are three version control processes? (Choose three.)
A. Subversion

B. version

C. Perforce

D. revision

E. Git

Correct Answer: BCD

QUESTION 5

Click the Exhibit button.

Referring to the exhibit, what would happen if there is a newer version of netapp- cioudmanager available when you
install the provider with the terraform init command?

A. The newer version will be downloaded.

B. The newer version will be downloaded only when it is a patch release.
C. Only the exact version 21.6.0 is downloaded.

D. Any version below version 21.6.0 is installed.

Correct Answer: D
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